Filomat 37:9 (2023), 2923–2934 https://doi.org/10.2298/FIL2309923G



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# Asymptotic normality of the Stirling-Whitney-Riordan triangle

## Wan-Ming Guo<sup>a</sup>, Lily Li Liu<sup>a,\*</sup>

<sup>a</sup>School of Mathematical Sciences, Qufu Normal University, Qufu 273165, PR China

**Abstract.** Recently, Zhu [34] introduced a Stirling-Whitney-Riordan triangle  $[T_{n,k}]_{n,k\geq 0}$  satisfying the recurrence

 $T_{n,k} = (b_1k + b_2)T_{n-1,k-1} + [(2\lambda b_1 + a_1)k + a_2 + \lambda(b_1 + b_2)]T_{n-1,k} + \lambda(a_1 + \lambda b_1)(k+1)T_{n-1,k+1},$ 

where initial conditions  $T_{n,k} = 0$  unless  $0 \le k \le n$  and  $T_{0,0} = 1$ . Denote by  $T_n = \sum_{k=0}^n T_{n,k}$ . In this paper, we show the asymptotic normality of  $T_{n,k}$  and give an asymptotic formula of  $T_n$ . As applications, we show the asymptotic normality of many famous combinatorial numbers, such as the Stirling numbers of the second kind, the *r*-Stirling numbers and the *r*-Whitney numbers of the second kind.

#### 1. Introduction

Let a(n, k) be a double-index sequence of nonnegative numbers and let

$$p(n,k) = \frac{a(n,k)}{\sum_{j=0}^{n} a(n,j)}$$
(1)

denote the normalized probabilities. Following Bender [3], we say that a(n,k) is asymptotically normal by a central limit theorem, if

$$\lim_{n \to \infty} \sup_{x \in \mathbb{R}} \left| \sum_{k \le \mu_n + x \delta_n} p(n,k) - \frac{1}{\sqrt{2\pi}} \int_{-\infty}^x e^{-t^2/2} dt \right| = 0,$$
(2)

where  $\mu_n$  and  $\sigma_n^2$  are the mean and the variance of a(n, k) respectively. We say that a(n, k) is *asymptotically normal by a local limit theorem* on  $\mathbb{R}$ , if

$$\lim_{n \to \infty} \sup_{x \in \mathbb{R}} \left| \sigma_n p(n, \lfloor \mu_n + x \sigma_n \rfloor) - \frac{1}{\sqrt{2\pi}} e^{-x^2/2} \right| = 0.$$
(3)

Keywords. Asymptotic normality, Asymptotic formula, Stirling-Whitney-Riordan triangle

Received: 15 April 2022; Revised: 11 July 2022; Accepted: 26 July 2022

Communicated by Paola Bonacini

<sup>2020</sup> Mathematics Subject Classification. Primary 05A16; Secondary 05A15, 11B73

Research supported by the National Natural Science Foundation of China (No. 11871304), by the Young Talents Invitation Program of Shandong Province, and by the Taishan Scholar Project of Shandong Province (No. tsqn202103060).

<sup>\*</sup> Corresponding author: Lily Li Liu

Email addresses: wanming\_guo@hotmail.com (Wan-Ming Guo), liulily@qfnu.edu.cn (Lily Li Liu)

In this case,

$$a(n,k) \sim \frac{e^{-x^2/2\sum_{j=0}^n a(n,j)}}{\sigma_n \sqrt{2\pi}}, \text{ as } n \to \infty$$

where  $k = \mu_n + x\sigma_n$  and x = O(1). Clearly, the validity of (3) implies that of (2).

Many combinatorial numbers satisfy the central and local limit theorems, including the binomial coefficients  $\binom{n}{k}$ , the signless Stirling numbers of the first kind [17], the Stirling numbers of the second kind [21], the Eulerian numbers [15], the *q*-derangement numbers [11], the coefficients of *q*-Catalan numbers [10], and the Laplacian coefficients of graphs [31]. We refer the reader to the survey of Canfield [9]. Recently, Hwang et al. [22] investigated the asymptotic distributions of recurrence sequence of Eulerian type, which includes hundreds of examples. Liu et al. [25] proved the asymptotic normality of combinatorial numbers related to Dowling lattices.

Let  $\mathbb{R}$  (resp.  $\mathbb{R}^{\geq 0}$ ,  $\mathbb{R}^{>0}$ ) denote the set of all (resp. nonnegative, positive) real numbers. For { $\lambda$ ,  $a_1$ ,  $a_2$ ,  $b_1$ ,  $b_2$ }  $\subseteq \mathbb{R}$ , Zhu [34] defined a *Stirling-Whitney-Riordan triangle* [ $T_{n,k}$ ]<sub> $n,k\geq 0$ </sub>, which satisfies the recurrence relation

$$T_{n,k} = (b_1k + b_2)T_{n-1,k-1} + [(2\lambda b_1 + a_1)k + a_2 + \lambda(b_1 + b_2)]T_{n-1,k} + \lambda(a_1 + \lambda b_1)(k+1)T_{n-1,k+1},$$
(4)

where initial conditions  $T_{n,k} = 0$  unless  $0 \le k \le n$  and  $T_{0,0} = 1$ . Let its row generating function  $T_n(q) = \sum_{k\ge 0} T_{n,k}q^k$  for  $n \ge 0$ . In [34], it was proved that under some inequalities of the coefficients,

- (i)  $[T_{n,k}]_{n,k}$  is coefficientwise totally positive in all the indeterminates;
- (ii)  $T_n(q)$  has only real zeros;
- (iii) the Turán-type polynomial  $T_{n+1}(q)T_{n-1}(q) T_n^2(q)$  is stable;
- (iv)  $T_n(q)$  is *q*-Stieltjes moment and 3-*q*-log-convex.

These properties can be applied to many famous combinatorial numbers.

**Example 1.1.** (1) For  $a_1 = b_2 = 1$  and  $a_2 = b_1 = \lambda = 0$ ,  $T_{n,k}$  is the Stirling number of the second kind  $\begin{cases} n \\ k \end{cases}$ , which enumerates the number of partitions of a set with n elements consisting of k disjoint nonempty subsets. Its row generating function, i.e., the Bell polynomial, is

$$B_n(x) = \sum_{k=0}^n \left\{ \begin{array}{c} n \\ k \end{array} \right\} x^k.$$

See [2, 7, 12, 14, 18, 19, 23, 24, 30, 32, 33] for many nice properties of the Stirling number of the second kind and the Bell polynomial.

- (2) For  $a_1 = b_1 = 1$ ,  $a_2 = b_2 = \lambda = 0$ ,  $T_{n,k} = k! \begin{Bmatrix} n \\ k \end{Bmatrix}$ . Let  $G_{n,k} = k! \begin{Bmatrix} n \\ k \end{Bmatrix}$ , which counts the number of distinct ordered partitions of a set with n elements. The row generating function  $G_n(x) = \sum_{k=1}^n G_{n,k} x^k$  is called the geometric polynomial and was studied by Tanny in [29].
- (3) For  $\lambda = 0$ ,  $T_{n,k}$  are the coefficients of a generalized ordered Bell polynomial, which were studied by Barbero et al. [1], Guo and Zhu [20].
- (4) For a<sub>1</sub> = m, b<sub>1</sub> = λ = 0, a<sub>2</sub> = b<sub>2</sub> = 1, T<sub>n,k</sub> is the Whitney number of the second kind, denote by W<sub>m</sub>(n, k). In 1973, Dowling [16] introduced a class of geometric lattices based on finite group G of order m ≥ 1, called Dowling lattices. Let Q<sub>n</sub>(G) be Dowling lattices of rank n associated to G. When m = 1, that is, G is the trivial group, Q<sub>n</sub>(G) is isomorphic to the lattice Π<sub>n+1</sub> of partition of an (n + 1) set. Its row generatinng function D<sub>n</sub>(m, x) = Σ<sup>n</sup><sub>k=0</sub> W<sub>m</sub>(n, k)x<sup>k</sup> is called the Dowling polynomial by Benoumhani [5].

- (5) For  $a_1 = m$ ,  $b_2 = \lambda = 0$ ,  $a_2 = b_1 = 1$ ,  $T_{n,k} = k!W_m(n,k)$ , where  $W_m(n,k)$  is the Whitney number of the second kind defined as (4). Its row generating function  $F_m(n,x) = \sum_{k=0}^{n} k!W_m(n,k)x^k$  is called the Tanny-geometric polynomial in [5]. See [5, 6, 12, 23, 30, 32, 33] for some properties of the Whitney number of the second kind and the Dowling polynomial.
- (6) For  $\lambda = b_2 = 0$ ,  $a_2 = 1$  and  $a_1 = b_1 = m$ ,  $T_{n,k} = m^k k! W_m(n,k)$ , which are the coefficients of a generalized Dowling polynomial

$$F_{n,m,2}(x) = \sum_{k=0}^{n} k! W_m(n,k) m^k x^k$$

*introduced by Benoumhani* [5]. *See Benoumhani* [4–6] *for the recurrence relations, the exponential generating functions and the reality of zeros of these Dowling polynomials.* 

(7) For  $\lambda = b_1 = 0$ ,  $a_1 = b_2 = 1$ ,  $a_2 = r$ ,  $T_{n,k}$  is the r-Stirling number  $\begin{cases} n \\ k \end{cases}_r$  defined by Broder [8], which enumerates the number of partitions of the set [n] having k non-empty disjoint subset, such that the numbers  $1, 2, \ldots, r$  are in distinct subsets [8]. The row generating function

$$B_{n,r}(x) = \sum_{k=0}^{n} \left\{ \begin{array}{c} n+r \\ k+r \end{array} \right\}_{r} x^{k},$$

is called the r-Bell polynomial by Mezö [8].

(8) For  $\lambda = b_1 = 0$ ,  $b_2 = 1$ ,  $a_1 = m$ , and  $a_2 = r$ ,  $T_{n,k}$  is the r-Whitney number of the second kind  $W_{m,r}(n,k)$ . The row generating function

$$D_{n,m,r}(x) = \sum_{k=0}^{n} W_{m,r}(n,k) x^k$$

is called the r-Dowling polynomial by Choen and Jung [13].

(9) For  $a_2 = b_1 = 0$  and  $a_1 = b_2 = \lambda = 1$ ,  $T_{n,k}$  equal the numbers  $a_{n,k}$  of set partitions of [n] in which exactly k blocks have been distinguished (see [28, A049020]). The triangle  $[a_{n,k}]_{n,k}$  first arose in Riordan's letter [27]. We refer reader to [28, A049020] for more information.

The aim of this paper is to study asymptotic properties of the Stirling-Whitney-Riordan triangle. We define  $T_n = T_n(1) = \sum_{k=0}^n T_{n,k}$ . In this paper, we first present an asymptotic formula of  $T_n$ , and then prove the asymptotic normality of  $T_{n,k}$ . More precisely, we have the following.

**Theorem 1.2.** Let  $\{a_1, b_1\} \subseteq \mathbb{R}^{>0}$  and  $\{\lambda, a_2, b_2\} \subseteq \mathbb{R}^{\geq 0}$ . If  $R_1$  is the unique positive solution of the equation

$$n = a_2 R + (b_1 + b_2)(1 + \lambda) R e^{a_1 R} \left[ 1 + \frac{b_1}{a_1} (1 + \lambda)(1 - e^{a_1 R}) \right]^{-1}$$

satisfying the condition  $0 < R_1 < \frac{1}{a_1} \ln^{(1+\frac{a_1}{b_1(1+\lambda)})}$ , then we have

$$T_n \sim \frac{n!}{R_1^n \psi} e^{a_2 R_1} \left[ 1 + \frac{b_1 (1+\lambda)}{a_1} (1-e^{a_1 R_1}) \right]^{-\left(1+\frac{b_2}{b_1}\right)},\tag{5}$$

where

$$\begin{split} \psi &= \sqrt{2\pi(n+\alpha+\beta)}, \quad \alpha = (b_1+b_2)(1+\lambda)R_1^2 a_1 e^{a_1R_1} \left[1+\frac{b_1}{a_1}(1+\lambda)(1-e^{a_1R_1})\right]^{-1}, \\ \beta &= (b_1+b_2)(1+\lambda)^2 b_1 R_1^2 e^{2a_1R_1} \left[1+\frac{b_1}{a_1}(1+\lambda)(1-e^{a_1R_1})\right]^{-2}. \end{split}$$

**Theorem 1.3.** Let  $\{a_1, b_1\} \subseteq \mathbb{R}^{>0}$ ,  $\{\lambda, a_2, b_2\} \subseteq \mathbb{R}^{\geq 0}$ . If  $a_1(b_1 + b_2) > b_1a_2$ , then the coefficients  $T_{n,k}$  are asymptotically normal.

## 2. Proof of Theorem 1.2

In this section, we present a proof of Theorem 1.2.

## Proof. [Proof of Theorem 1.2]

When  $a_1 \neq 0, b_1 \neq 0$ , the exponential generating function of  $T_n(q)$  is

$$\sum_{n\geq 0} T_n(q) \frac{t^n}{n!} = e^{a_2 t} \left[ 1 + \frac{b_1(q+\lambda)(1-e^{a_1 t})}{a_1} \right]^{-\left(1+\frac{b_2}{b_1}\right)},\tag{6}$$

(see [34] for instance). Following Moser and Wyma [26], by Cauchy's formula, we can write  $T_n$  as

$$T_n = \frac{n!}{2\pi i} \oint_{|t|=R} \frac{e^{a_2 t} \left[1 + \frac{b_1(1+\lambda)(1-e^{a_1 t})}{a_1}\right]^{-\left(1 + \frac{b_2}{b_1}\right)}}{t^{n+1}} dt.$$

Set  $t = Re^{i\theta}$ . Then it yields

$$T_n = \frac{n!}{2\pi R^n} \int_{-\pi}^{\pi} e^{a_2 R e^{i\theta} - in\theta} \Big[ 1 + \frac{b_1 (1+\lambda)(1-e^{a_1 R e^{i\theta}})}{a_1} \Big]^{-\left(1+\frac{b_2}{b_1}\right)} d\theta.$$
(7)

Let

$$F(\theta) = \ln^{e^{\theta_2 R e^{i\theta} - in\theta} \left[ 1 + \frac{b_1 (1+\lambda)(1-e^{\theta_1 R e^{i\theta}})}{a_1} \right]^{-\left(1 + \frac{b_2}{b_1}\right)}}, \quad \varepsilon = n^{-\frac{1}{4}}.$$

We decompose the integral (7) into three parts

$$\left(\int_{-\pi}^{-\varepsilon} + \int_{-\varepsilon}^{\varepsilon} + \int_{\varepsilon}^{\pi}\right) \exp\left(F(\theta)\right) d\theta.$$
(8)

In what follows we will prove that integrals  $\int_{-\pi}^{-\varepsilon}$  and  $\int_{\varepsilon}^{\pi}$  are negligible, and then the greatest contribution to (8) comes from the middle part  $\int_{-\varepsilon}^{\varepsilon}$ . By computing, we derive

$$\begin{aligned} F'(\theta) &= a_2 Rie^{i\theta} - in + (b_1 + b_2)(1 + \lambda) Rie^{a_1 Re^{i\theta} + i\theta} \left[ 1 + \frac{b_1}{a_1} (1 + \lambda)(1 - e^{a_1 Re^{i\theta}}) \right]^{-1}, \\ F''(\theta) &= -a_2 Re^{i\theta} + (b_1 + b_2)(1 + \lambda) Ri(a_1 Rie^{i\theta} + i)e^{a_1 Re^{i\theta} + i\theta} \left[ 1 + \frac{b_1}{a_1} (1 + \lambda)(1 - e^{a_1 Re^{i\theta}}) \right]^{-1} \\ &- (b_1 + b_2)b_1(1 + \lambda)^2 R^2 e^{2(a_1 Re^{i\theta} + i\theta)} \left[ 1 + \frac{b_1}{a_1} (1 + \lambda)(1 - e^{a_1 Re^{i\theta}}) \right]^{-2}. \end{aligned}$$

Therefore we have

$$F(0) = \ln^{e^{a_2R} \left[ 1 + \frac{b_1}{a_1} (1+\lambda)(1-e^{a_1R}) \right]^{-\left(1+\frac{b_2}{b_1}\right)}},$$
  

$$F'(0) = a_2Ri - in + (b_1 + b_2)(1+\lambda)Rie^{a_1R} \left[ 1 + \frac{b_1}{a_1} (1+\lambda)(1-e^{a_1R}) \right]^{-1},$$
  

$$F''(0) = -a_2R - (b_1 + b_2)(1+\lambda)R(a_1R+1)e^{a_1R} \left[ 1 + \frac{b_1}{a_1} (1+\lambda)(1-e^{a_1R}) \right]^{-1} - (b_1 + b_2)b_1(1+\lambda)^2R^2e^{2a_1R} \left[ 1 + \frac{b_1}{a_1} (1+\lambda)(1-e^{a_1R}) \right]^{-2}.$$

Note that F'(0) = 0 is equivalent to the equation

$$\frac{n}{R} = a_2 + (b_1 + b_2)(1 + \lambda)e^{a_1 R} \Big[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1 R}) \Big]^{-1}.$$

Let  $h(R) = \frac{n}{R}$  and

$$v(R) = a_2 + (b_1 + b_2)(1 + \lambda)e^{a_1R} \Big[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1R}) \Big]^{-1}.$$

We derive

$$v'(R) = (b_1 + b_2)(1 + \lambda) \frac{[a_1 + b_1(1 + \lambda)]e^{a_1 R}}{[1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1 R})]^2} > 0$$

where  $a_1, b_1, \lambda, b_2$  is nonnegative. Obviously v(R) is increasing and h(R) is decreasing in the interval 

exists a point  $R_1 \in \left(0, \frac{1}{a_1} \ln^{\left(1 + \frac{a_1}{b_1(1+\lambda)}\right)}\right)$  such that  $v(R_1) = h(R_1)$ . Expanding the integral  $\int_{\varepsilon}^{\pi}$  in the Taylor series about  $\theta = 0$ , we obtain

$$\begin{split} & \left| \int_{\varepsilon}^{\pi} \exp(F(\theta)) d\theta \right| \\ &= \left| \int_{\varepsilon}^{\pi} \exp\left(F(0) + F'(0)\theta + F''(0)\frac{\theta^2}{2} + o(\theta^2)\right) d\theta \right| \\ &= \exp(F(0)) \left| \int_{\varepsilon}^{\pi} \exp\left(F'(0)\theta + F''(0)\frac{\theta^2}{2} + o(\theta^2)\right) d\theta \right| \\ &\leq \exp(F(0)) \int_{\varepsilon}^{\pi} \left| \exp\left(F'(0)\theta + F''(0)\frac{\theta^2}{2} + o(\theta^2)\right) \right| d\theta \\ &= e^{a_2 R_1} \left[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1 R_1}) \right]^{-\left(1 + \frac{b_2}{b_1}\right)} \int_{\varepsilon}^{\pi} \exp\left(F''(0)\frac{\theta^2}{2} + o(\theta^2)\right) d\theta. \end{split}$$

In addition, we also derive

$$F''(0) = -a_2R_1 - (b_1 + b_2)(1 + \lambda)R_1(a_1R_1 + 1)e^{a_1R_1} \left[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1R_1}) \right]^{-1} - (b_1 + b_2)b_1(1 + \lambda)^2 R_1^2 e^{2a_1R_1} \left[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1R_1}) \right]^{-2}$$
$$= -\left\{ n + (b_1 + b_2)(1 + \lambda)a_1R_1^2 e^{a_1R_1} \left[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1R_1}) \right]^{-1} + (b_1 + b_2)b_1(1 + \lambda)^2 R_1^2 e^{2a_1R_1} \left[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1R_1}) \right]^{-2} \right\}.$$

In consequence, for the integral  $\int_{\varepsilon}^{\pi}$  in (8), we obtain

$$\int_{\varepsilon}^{\pi} \exp\left(F''(0)\frac{\theta^2}{2} + o(\theta^2)\right) d\theta \longrightarrow 0 \quad as \quad n \longrightarrow \infty.$$

The same calculations are valid for  $\int_{-\pi}^{-\varepsilon}$ . So

$$\begin{split} T_n &\sim \frac{n!}{2\pi R_1^n} \exp(F(0)) \int_{-\varepsilon}^{\varepsilon} \exp\left(F''(0)\frac{\theta^2}{2} + o(\theta^2)\right) d\theta \\ &= \frac{n!}{2\pi R_1^n} e^{a_2 R_1} \Big[1 + \frac{b_1}{a_1}(1+\lambda)(1-e^{a_1 R_1})\Big]^{-\left(1+\frac{b_2}{b_1}\right)} \\ &\int_{-\varepsilon}^{\varepsilon} \exp\left\{-\frac{\theta^2}{2} \Big\{n + (b_1+b_2)(1+\lambda)a_1 R_1^2 e^{a_1 R_1} \Big[1 + \frac{b_1}{a_1}(1+\lambda)(1-e^{a_1 R_1})\Big]^{-1} \right. \\ &+ (b_1+b_2)b_1(1+\lambda)^2 R_1^2 e^{2a_1 R_1} \Big[1 + \frac{b_1}{a_1}(1+\lambda)(1-e^{a_1 R_1})\Big]^{-2} \Big\} + o(\theta^2) \Big\} d\theta. \end{split}$$

Let

$$\varphi = \sqrt{n + \alpha + \beta} \theta,$$

where

$$\alpha = (b_1 + b_2)(1 + \lambda)R_1^2 a_1 e^{a_1 R_1} \left[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1 R_1}) \right]^{-1},$$
  
$$\beta = (b_1 + b_2)b_1(1 + \lambda)^2 R_1^2 e^{2a_1 R_1} \left[ 1 + \frac{b_1}{a_1}(1 + \lambda)(1 - e^{a_1 R_1}) \right]^{-2}.$$

Observing for large enough n, we integrate on the real axis and get

$$T_n \sim \frac{n!}{2\pi R_1^n \sqrt{n+\alpha+\beta}} e^{a_2 R_1} \left[ 1 + \frac{b_1}{a_1} (1+\lambda)(1-e^{a_1 R_1}) \right]^{-\left(1+\frac{b_2}{b_1}\right)} \\ \int_{-\infty}^{\infty} \exp(-\frac{\varphi^2}{2}) d\varphi \\ = \frac{n!}{R_1^n \psi} e^{a_2 R_1} \left[ 1 + \frac{b_1}{a_1} (1+\lambda)(1-e^{a_1 R_1}) \right]^{-\left(1+\frac{b_2}{b_1}\right)},$$

where  $\psi = \sqrt{2\pi(n + \alpha + \beta)}$ .  $\Box$ 

# 3. Proof of Theorem 1.3

In this section, we give a proof of Theorem 1.3. Before it, we need some known results.

A standard approach to demonstrating the asymptotic normality is the following criterion, which was used by Harper [21] to show the asymptotic normality of the Stirling numbers of the second kind. We refer the reader to [3, 9, 14] for the asymptotic normality.

**Lemma 3.1.** [31] Suppose that  $A_n(x) = \sum_{k=0}^n a(n,k)x^k$  have only real zero and  $A_n(x) = \prod_{i=1}^n (x+r_i)$ . Let

$$u_n = \sum_{i=1}^n \frac{1}{1+r_i};$$
$$\sigma_n^2 = \sum_{i=1}^n \frac{r_1}{(1+r_i)^2}$$

If  $\sigma_n \to +\infty$ , then the numbers a(n,k) are asymptotically normal with the mean  $u_n$  and the variance  $\sigma_n^2$ .

**Remark 3.2.** [9] Suppose that  $A_n(x) = \sum_{k=0}^n a(n,k)x^k$ . Then the mean and the variance of a(n,k) are given by the following expressions  $A'(1) = \sum_{k=0}^n a(n,k)x^k$ 

$$u_n = \frac{A_n(1)}{A_n(1)} = \frac{\sum_{k=0}^n ku(n,k)}{\sum_{k=0}^n a(n,k)},$$
  
$$\sigma_n^2 = \frac{A'_n(1)}{A_n(1)} + \frac{A''_n(1)}{A_n(1)} - \left(\frac{A'_n(1)}{A_n(1)}\right)^2 = \frac{\sum_{k=0}^n k^2 a(n,k)}{\sum_{k=0}^n a(n,k)} - u_n^2$$

Now we are in a position to prove Theorem 1.3.

*Proof.* [Proof of Theorem 1.3] If  $a_1(b_1 + b_2) > b_1a_1$ , then the row generating function  $T_n(q) = \sum_{k=0}^n T_{n,k}q^k$  has only real zeros [34]. So by Lemma 3.1, it suffices to prove that the variance of  $T_{n,k}$  tends to  $+\infty$  as  $n \to \infty$ . Let  $T_n = T_n(1) = \sum_{k\geq 0} T_{n,k}$ . By the recurrence (4), we have

$$\sum_{k=0}^{n} kT_{n,k} = \frac{T_{n+1} - [(\lambda + 1)(b_1 + b_2) + a_2]T_n}{[(\lambda + 1)^2 b_1 + (\lambda + 1)a_1]}.$$

So the mean and the variance of  $T_{n,k}$  are

$$\begin{split} u_n &= \frac{\sum_{k=0}^n kT_{n,k}}{T_n} = \frac{1}{[(\lambda+1)^2 b_1 + (\lambda+1)a_1]} \left[ \frac{T_{n+1}}{T_n} - [(\lambda+1)(b_1+b_2) + a_2] \right], \\ \sigma_n^2 &= \frac{\sum_{k=0}^n k^2 T_{n,k}}{\sum_{k=0}^n T_{n,k}} - u_n^2 \\ &= \frac{1}{[(\lambda+1)^2 b_1 + (\lambda+1)a_1]^2} \left[ \frac{T_{n+2}}{T_n} - [(2\lambda+3-\lambda^2)b_1 + (2\lambda+2)b_2 + 2a_2 - \lambda a_1] \frac{T_{n+1}}{T_n} \right] \\ &- \left[ [(\lambda+1)^2 b_1 + (\lambda+1)a_1](b_1 + b_2) - [(\lambda+1)(b_1 + b_2) + a_2] [(2+\lambda)b_1 + (\lambda+1)b_2 + a_2 - \lambda a_1 - \lambda^2 b_1] \right] - u_n^2. \end{split}$$

Using the asymptotic formula (5) of  $T_n$ , we have

$$\sigma_n^2 = \frac{\sum_{k=0}^n k^2 T_{n,k}}{\sum_{k=0}^n T_{n,k}} - u_n^2 \sim \frac{n+1}{[(\lambda+1)^2 b_1 + (\lambda+1)a_1]^2} \left[ \frac{1 + [(\lambda^2 - 1)b_1 + \lambda a_1]R_1}{R_1^2} \right].$$
(9)

Now we claim that  $1 + [(\lambda^2 - 1)b_1 + \lambda a_1]R_1 > 0$ . It is easy to get that  $(\lambda^2 - 1)b_1 + \lambda a_1$  is increasing in  $(0, +\infty)$ . So if  $\lambda = 0$ , then  $(\lambda^2 - 1)b_1 + \lambda a_1 = -b_1$  is minimum in the interval  $(0, +\infty)$ . Hence we have

$$1 + [(\lambda^2 - 1)b_1 + \lambda a_1]R_1 > 1 - b_1R_1 > 1 - \frac{b_1}{a_1}\ln(1 + \frac{a_1}{b_1}) > 0,$$

for  $R_1 \in (0, \frac{1}{a_1} \ln(1 + \frac{a_1}{b_1(1+\lambda)})) \subset (0, \frac{1}{a_1} \ln(1 + \frac{a_1}{b_1}))$  and  $\ln(1 + \frac{a_1}{b_1}) < \frac{a_1}{b_1}$  when  $a_1, b_1 > 0$ . Following (9), we have  $\sigma_n^2 \to +\infty$  as  $n \to \infty$ .  $\Box$ 

For  $a_1 \neq 0$  or  $b_1 = 0$ , using continuity of functions, the exponential generating function is

$$\sum_{n\geq 0} T_n(q) \frac{t^n}{n!} = e^{a_2 t + \left[\frac{b_2(q+\lambda)(e^{a_1 t} - 1)}{a_1}\right]}$$

(see Zhu [34]). In this case, we also obtain an asymptotic formula of  $T_n$  and the asymptotic normality of  $T_{n,k}$  in the following theorem. It can be proved by the same technique used in the proof of Theorems 1.2 and 1.3. So we omit its proof for brevity.

**Theorem 3.3.** Let  $\{a_1\} \subseteq R^{>0}$  and  $\{a_2, b_2, \lambda\} \subseteq R^{\geq 0}$ . Then

(i) an asymptotic formula of  $T_n$  is

$$T_n \sim \frac{n!}{R_2^n \sqrt{2\pi(n+a_1 R_2^2 e^{a_1 R_2})}} \exp\left(a_2 R_2 + \frac{b_2}{a_1}(1+\lambda)(e^{a_1 R_2}-1)\right),$$

where  $R_2$  is the unique positive solution  $n = a_2R + b_2(1 + \lambda)Re^{a_1R}$ .

(ii) the coefficients  $T_{n,k}$  are asymptotically normal.

#### 4. Applications

In this section, we give some applications of Theorems 1.2, 1.3 and 3.3, and obtain asymptotic formulas and the asymptotic normality of some combinatorial numbers or polynomials related to the Stirling-Whitney-Riordan triangle.

It is well-known that many classical combinatorial numbers satisfy the following recurrence

$$\mathcal{T}_{n,k} = \lambda(a_0n + a_1k + a_2)\mathcal{T}_{n-1,k} + (b_0n + b_1k + b_2)\mathcal{T}_{n-1,k-1} + \frac{d(da_1 - b_1)}{\lambda}(n - k + 1)\mathcal{T}_{n-1,k-2};$$
(10)

with  $\mathcal{T}_{0,0} = 1$  and  $\mathcal{T}_{n,k} = 0$  unless  $0 \le k \le n$ . We also denote its row generating function by  $\mathcal{T}_n(q) = \sum_{k \ge 0} \mathcal{T}_{n,k} q^k$  for  $n \ge 0$ .

Now we consider the asymptotic normality of triangles satisfying the following two types of recurrences (i)  $\mathbb{T}_{n,k} = \lambda(a_1k + a_2)\mathbb{T}_{n-1,k} + [-da_1n + (b_1 + 2da_1)k + b_2 - b_1 - d(a_1 - a_2)]\mathbb{T}_{n-1,k-1} - \frac{d(da_1+b_1)}{\lambda}(n-k+1)\mathbb{T}_{n-1,k-2}$ ; (ii)  $\mathbf{T}_{n,k} = \lambda(a_0n - a_0k + a_2 - a_0)\mathbf{T}_{n-1,k} + [(b_0 + 2da_0)(n-k) + b_2 + da_2]\mathbf{T}_{n-1,k-1} + \frac{d(b_0+da_0)}{\lambda}(n-k+1)\mathbf{T}_{n-1,k-2}$ . The next relationship was proved by Zhu [35].

**Theorem 4.1.** [35] Let  $[\mathcal{T}_{n,k}]_{n,k\geq 0}$  be defined in (10). Then there exists an array  $[A_{n,k}]_{n,k\geq 0}$  satisfying the recurrence relation

$$A_{n,k} = [[b_0 + d(a_1 - a_0)]n + (b_1 - 2da_1)k + b_2 + d(a_1 - a_2)]A_{n-1,k-1} + (a_0n + a_1k + a_2)A_{n-1,k-1} + (a_0n + a_1k$$

with  $A_{0,0} = 1$  and  $A_{n,k} = 0$  unless  $0 \le k \le n$  such that their row-generating functions satisfy

$$\mathcal{T}_n(q) = (\lambda + dq)^n A_n(\frac{q}{\lambda + dq})$$

for  $n \ge 0$ .

For  $[\mathbb{T}_{n,k}]_{n,k}$  in (i), by Theorem 4.1, we obtain a corresponding array  $[\mathcal{A}_{n,k}]_{n,k}$  as follows:  $\mathcal{A}_{n,k} = (a_1k + a_2)\mathcal{A}_{n-1,k} + [(b_1(k-1) + b_2)\mathcal{A}_{n-1,k-1}]$ .

Clearly, if  $\lambda = 0$  and  $b_2 - b_1 \rightarrow b_2$  in recurrence relation (4), then the String-Whitney-Riordan triangle  $T_{n,k}$  reduces to  $\mathcal{A}_{n,k}$ . Thus for  $\mathcal{A}_n(x) = \sum_{k\geq 0} \mathcal{A}_{n,k} x^k$ , we have the exponential generating function

$$\sum_{n\geq 0} \mathcal{A}_n(x) \frac{t^n}{n!} = \exp(a_2 t) \left[ \frac{a_1}{a_1 + b_1 x - b_1 x \exp(a_1 t)} \right]^{\frac{b_2}{b_1}}.$$
(11)

So we derive

$$\sum_{n\geq 0} \mathbb{T}_n(q) \frac{t^n}{n!} = \sum_{n\geq 0} (\lambda + dq)^n \mathcal{A}_n\left(\frac{q}{\lambda + dq}\right) \frac{t^n}{n!}$$
$$= \exp(a_2 t(\lambda + dq)) \left[\frac{a_1(\lambda + dq)}{a_1(\lambda + dq) + b_1q - b_1q} \exp(a_1(\lambda + dq)t)\right]^{\frac{b_2}{b_1}}.$$
(12)

**Corollary 4.2.** (1)

$$\mathbb{T}_{n} = \sum_{k=0}^{n} \mathbb{T}_{n,k} \sim \frac{n! \left( \exp(a_{2}(\lambda + d)R_{1}) \left[ \frac{a_{1}(\lambda + d)}{a_{1}(\lambda + d) + b_{1} - b_{1} \exp(a_{1}(\lambda + d)R_{1})} \right]^{\frac{b_{2}}{b_{1}}} \right)}{R_{1}^{n} \sqrt{2\pi(n + \eta)}}$$

where

$$\eta = \frac{b_2 a_1^2 (\lambda + d)^2 R_1^2 \exp(a_1 (\lambda + d) R_1)}{a_1 (\lambda + d) + b_1 - b_1 \exp(a_1 (\lambda + d) R_1)} + \frac{b_1 b_2 a_1^2 (\lambda + d)^2 R_1^2 \exp(2a_1 (\lambda + d) R_1)}{[a_1 (\lambda + d) + b_1 - b_1 \exp(a_1 (\lambda + d) R_1)]^2}$$

and  $R_1$  is the positive solution of

$$n = a_2(\lambda + d)R + b_2 \frac{a_1(\lambda + d)R \exp a_1(\lambda + d)R}{a_1(\lambda + d) + b_1 - b_1 \exp a_1(\lambda + d)R}.$$

(2) If  $b_2a_1(\lambda + d) > a_2(\lambda + d)b_1$ , then the coefficients  $\mathbb{T}_{n,k}$  are asymptotically normal.

For  $[\mathbf{T}_{n,k}]_{n,k}$  in (ii), by Theorem 4.1, we get a corresponding array  $[\mathcal{B}_{n,k}]_{n,k}$  satisfying

$$\mathcal{B}_{n,k} = [a_0(n-k-1) + a_2]\mathcal{B}_{n-1,k} + [b_0(n-k) + b_2]\mathcal{B}_{n-1,k-1}.$$

Let  $\mathcal{B}_{n,k}^* = \mathcal{B}_{n,n-k}$ . It yields

$$\mathcal{B}_{n,k}^* = [a_0(k-1) + a_2]\mathcal{B}_{n-1,k-1}^* + [b_0k + b_2]\mathcal{B}_{n-1,k}^*$$

So we have  $\mathcal{B}_n^*(x) = x^n \mathcal{B}_n(\frac{1}{x})$ , where  $\mathcal{B}_n^*(x) = \sum_{n \ge 0} \mathcal{B}_{n,k}^* x^k$ ,  $\mathcal{B}_n(x) = \sum_{n \ge 0} \mathcal{B}_{n,k} x^k$ . Combining (11) and  $\mathcal{B}_n^*(x) = x^n \mathcal{B}_n(\frac{1}{x})$ , we have the exponential generating function:

$$\sum_{n\geq 0} \mathbf{T}_n(q) \frac{t^n}{n!} = \sum_{n\geq 0} (\lambda + dq)^n \mathcal{B}_n\left(\frac{q}{\lambda + dq}\right) \frac{t^n}{n!}$$
$$= \sum_{n\geq 0} \mathcal{B}_n^*\left(\frac{\lambda + dq}{q}\right) \frac{(tq)^n}{n!}$$
$$= \exp(b_2 tq) \left[\frac{b_0 q}{qb_0 + a_0(\lambda + dq) - a_0(\lambda + dq)\exp(b_0 tq)}\right]^{\frac{a_2}{a_0}}.$$

Corollary 4.3. (1)

$$\mathbf{T}_{n} = \sum_{k=0}^{n} \mathbf{T}_{n,k} \sim \frac{n! \left( \exp(b_{2}R_{1}) \left[ \frac{b_{0}}{b_{0} + a_{0}(\lambda + d) - a_{0}(\lambda + d) \exp(b_{0}R_{1})} \right]^{\frac{a_{2}}{a_{0}}} \right)}{R_{1}^{n} \sqrt{2\pi(n + \mu)}};$$

where

$$\mu = \frac{a_2 b_0^2 R_1^2(\lambda + d) \exp(b_0 R_1)}{b_0 + a_0(\lambda + d) - a_0(\lambda + d) \exp(b_0 R_1)} + \frac{a_2 b_0^2 R_1^2(\lambda + d)^2 a_0 \exp(2b_0 R_1)}{[b_0 + a_0(\lambda + d) - a_0(\lambda + d) \exp(b_0 R_1)]^2}$$

and  $R_1$  is the positive solution of

$$n = b_2 R + \frac{a_2 b_0 R(\lambda + d) \exp(b_0 R)}{b_0 + a_0(\lambda + d) - a_0(\lambda + d) \exp(b_0 R)}$$

(2) If  $a_2(\lambda + d)b_0 > b_2a_0(\lambda + d)$ , then the coefficients  $\mathbf{T}_{n,k}$  are asymptotically normal.

By Theorems 1.2, 1.3 and 3.3, for those combinatorial numbers in Example 1.1, we have the following asymptotic formulas in a unified manner.

Example 4.4. The following asymptotic formulas hold.

(1) The Bell numbers

$$B_n = \sum_{k=0}^n S(n,k) \sim \frac{n!}{R_2^n \sqrt{2\pi(n+R_2^2e^{R_2})}} \exp(e^{R_2}-1),$$

where  $R_2$  is the unique positive solution  $Re^R = n$ ;

(2) The ordered Bell numbers

$$G_n = \sum_{k=0}^n k! S(n,k) \sim \frac{n!}{R_1^n \sqrt{2\pi (n(2-e^{R_1})^2 + 2R_1^2 e^{R_1})}}$$

where  $R_1$  is the unique solution  $n = Re^R(2 - e^R)^{-1}$  and satisfying  $0 < R_1 < 1$ ;

(3) The Whitney numbers of the second kind

$$D_n = \sum_{k=0}^n W_m(n,k) \sim \frac{n!}{R_2^n \sqrt{2\pi(n+mR_2^2 e^{mR_2})}} \exp\left(R_2 + \frac{1}{m}(e^{mR_2}-1)\right),$$

where  $R_2$  is the unique positive solution  $n = R + Re^{mR}$ ;

(4) The numbers

$$F_m = \sum_{k=0}^n W_m(n,k)k! \sim \frac{mn!e^{R_1}}{R_1^n \sqrt{2\pi(n(m+1-e^{mR_1})^2 + m^2(m+1)R_1^2e^{mR_1})}},$$

where  $R_1$  is the unique solution  $n = R + Re^{mR}(1 + \frac{1}{m}(1 - e^{mR}))^{-1}$  and satisfies  $0 < R_1 < 1$ ; (5) The numbers of Riordan

$$A_n = \sum_{k=0}^n a_{n,k} \sim \frac{n!}{R_2^n \sqrt{2\pi(n+R_2^2 e^{R_2})}} \exp(2(e^{R_2}-1)),$$

where  $R_2$  is the unique positive solution of  $n = 2Re^R$ ;

(6) The numbers A154602, let  $b_{n,k} = A154602$ 

$$E_n = \sum_{k=0}^n b_{n,k} \sim \frac{n!}{R_2^n \sqrt{2\pi(n+2R_2^2e^{2R_2})}} \exp((e^{2R_2}-1)),$$

where  $R_2$  is unique positive solution  $n = 2Re^{2R}$ ;

(7) The r-Bell numbers

$$H_n = \sum_{k=0}^n S_r(n,k) \sim \frac{n! \exp(rR_2 + e^{R_2} - 1)}{R_2^n \sqrt{2\pi(n + R_2^2 e^{R_2})}},$$

where  $R_2$  is the unique positive solution  $n = rR + Re^R$ ;

(8) The r-Dowling numbers

$$L_n = \sum_{k=0}^n W_{m,r}(n,k) \sim \frac{n! \exp(rR_2 + \frac{1}{m}(e^{mR_2 - 1}))}{R_2^n \sqrt{2\pi(n + mR_2^2 e^{mR_2})}}$$

where  $R_2$  is the unique positive solution  $n = rR + Re^{mR}$ ;

(9) The numbers

$$V_n = \sum_{k=0}^n m^k k! W_m(n,k) \sim \frac{n! e^{R_1}}{R_1^n \sqrt{2\pi (n(2-e^{mR_1})^2 + 2m^2 R_1^2 e^{mR_1})}}$$

where  $R_1$  is the solution of  $R + \frac{mRe^{mR}}{2-e^{mR}} = n$  satisfying  $0 < R_1 < 1$ ;

(10) The generalized ordered Bell polynomial coefficients  $\mathcal{U}_{n,k}$ 

$$\mathcal{U}_n = \sum_{k=0}^n \mathcal{U}_{n,k} \sim \frac{n!}{R_1^n \psi} e^{a_2 R_1} \left[ 1 + \frac{b_1}{a_1} (1 - e^{a_1 R_1}) \right]^{-\left(1 + \frac{b_2}{b_1}\right)},$$

h. )

where  $\psi = \sqrt{2\pi(n+\alpha+\beta)}$ ,

$$\alpha = (b_1 + b_2) R_1^2 a_1 e^{a_1 R_1} \left[ 1 + \frac{b_1}{a_1} (1 - e^{a_1 R_1}) \right]^{-1},$$
  
$$\beta = (b_1 + b_2) b_1 R_1^2 e^{2a_1 R_1} \left[ 1 + \frac{b_1}{a_1} (1 - e^{a_1 R_1}) \right]^{-2},$$

and  $R_1$  is the unique positive solution of  $n = a_2R + (b_1 + b_2)Re^{a_1R} \left[1 + \frac{b_1}{a_1}(1 - e^{a_1R})\right]^{-1}$  satisfying  $0 < R_1 < \frac{1}{a_1}\ln^{(1+\frac{a_1}{b_1})}$ .

**Corollary 4.5.** The sequences (S(n,k)), (k!S(n,k)),  $(W_m(n,k))$ ,  $(k!W_m(n,k))$ ,  $(a_{n,k})$ ,  $(b_{n,k})$ ,  $(S_r(n,k))$ ,  $(W_{m,r}(n,k))$ ,  $(m^kk!W_m(n,k))$  are asymptotically normal respectively.

#### References

- J.F. Barbero G., J. Salas, E.J.S. Villasenor, Bivariate generating functions for a class of linear recurrences General structure, J. Combin. Theory Ser. A 125 (2014) 146-165.
- [2] E.T. Bell, Exponential polynomials, Ann. Math. 35 (1934) 258-277.
- [3] E.A. Bender, Central and local limit theorems applied to asymptotic enumeration, J. Combin. Theory Ser. A 15 (1973) 91-111.
- [4] M. Benoumhani, On Whitney numbers of Dowling lattices, Discrete Math. 159 (1996) 13-33.
- [5] M. Benoumhani, On some numbers related to Whitney numbers of Dowling lattices, Adv. Appl. Math. 19 (1997) 106-116.
- [6] M. Benoumhani, Log-concavity of Whitney numbers of Dowling lattices, Adv. Appl. Math. 22 (1999) 181-189.
- [7] F. Brenti, Combinatorics and total positivity, J. Combin. Theory Ser. A 71 (1995) 175-218.
- [8] A.Z. Broder, The *r*-Stirling number, Discrete Math. 49 (1984) 241-259.
- [9] E.R. Canfied, Asymptotic normality in enumeration, Handbook of Enumerative Combinatorics, 255-280, Discrete Math. Appl. (Boca Raton), CRC Press, Boca Raton, FL, 2015.
- [10] W.Y.C. Chen, C.J. Wang, L.X.W. Wang, The limiting distribution of the coefficients of the *q*-Catalan numbers, Proc. Amer. Math. Soc. 136 (2008) 3759-3767.
- [11] W.Y.C. Chen, D.G.L. Wang, The limiting distribution of the q-derangement numbers, European J. Combin. 31 (2010) 2006-2013.
- [12] W.Y.C. Chen, R.L. Tang, L.X.W. Wang, A.L.B. Yang, Recurrence relations for strongly q-log-convex polynomials, Canad. Math. Bull. 54 (2011) 217-229.

- [13] G.-S. Cheon, J.-H. Jung, r-Whitney numbers of Dowling lattices, Discrete Math. 312 (2012) 2337-2348.
- [14] L. Comtet, Advanced combinatorics, Revised and enlarged edition, Reidel, Dordrecht, 1974.
- [15] L. Carlitz, D.C. Kurtz, R. Scoville, O.P. Stackelberg, Asymptotic properties of Eulerian numbers, Z. Wahrscheinlichkeitstheorie Verwandte Geb. 23 (1972) 47-54.
- [16] T.A. Dowling, A class of geometric lattices based on finite groups, J. Combin. Theory Ser. B 14 (1973) 61-86.
- [17] W. Feller, The fundamental limit theorems in probability, Bull. Amer. Math. Soc. 51 (1945) 800-832.
- [18] S. Fisk, Polynomials, roots, and interlacing, arXiv: math/0612833.
- [19] P. Flajolet, Combinatorial aspects of continued fractions, Discrete Math. 32 (1980) 125-161.
- [20] W.-M. Guo, B.-X. Zhu, A generalized ordered Bell polynomial, Linear Algebra Appl. 588 (2020) 458-470.
- [21] L.H. Harper, Stirling behavior is asymptotically normal, Ann. Math. Statist. 38 (1967) 410-414.
- [22] H.-K. Hwang, H.-H. Chern, G.-H. Duh, An asymptotic distribution theory for Eulerian recurrences with applications, Adv. Appl. Math. 112 (2020) 101960.
- [23] L.L. Liu, Y. Wang, On the log-convexity of combinatorial sequences, Adv. Appl. Math. 39 (2007) 453-476.
- [24] L.L. Liu, Y. Wang, A unified approach to polynomial sequences with only real zeros, Adv. Appl. Math. 38 (2007) 542-560.
- [25] L.L. Liu, Y. Yang, W. Zhang, Asymptotic normality of coefficients of some polynomials related to Dowling lattices, Filomat. 34:9 (2020) 2915-2925.
- [26] L. Moser, M. Wyman, An asymptotic formula for the Bell numbers, Trans. Roy. Soc. Canad. 49 (1955) 49-53.
- [27] J. Riordan, Letter, Oct 31 1977, http://oeis.org/A001861/a001861.pdf.
- [28] N.J.A. Sloane, The On-Line Encyclopedia of Integer Sequences. http://oeis.org
- [29] S. Tanny, On some numbers related to the Bell numbers, Canad. Math. Bull. 17 (1975) 733-738.
- [30] Y. Wang, B.-X. Zhu, Log-convex and Stieltjes moment sequence, Adv. Appl. Math. 81 (2016) 115-127.
- [31] Y. Wang, H.-X. Zhang, B.-X. Zhu, Asymptotic normality of LapLacian coefficients of graphs, J. Math. Anal. Appl. 455 (2017) 2030-2037.
- [32] B.-X. Zhu, Log-convexity and strong q-log-convexity for some triangular arrays, Adv. Appl. Math. 50 (2013) 596-606.
- [33] B.-X. Zhu, q-log-convexity from linear transformations and polynomials with real zeros, European J. Combin. 73 (2018) 231-246. [34] B.-X. Zhu, On a Stirling-Whitney-Riordan triangle, J. Algebra Combin. 54 (2021) 999-1019.
- [35] B.-X. Zhu, A unified approach to combinatorial triangles: a generalized Eulerian polynomial, arXiv:2007.12602.